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Draw the following segments using a ruler. Do you know the definitions of the segments of a triangle?
1. Altitude AX 2. Median AT 3. MN asthe L 4. AR as the bisector
bisector of BC of ZA.
g
% 3 ¢
B B B B

Given each triangle segment, find each value.

Do you know the definitions of altitude, angle bisector, median,

and perpendicular bisector, what they look like, and how to write and solve an equation when given a problem?

5. YW is the L bisector of XZ , XW = 2x + 4,
WZ=x+6,XY=3y,and YZ =2y +8.

Find x and y. &
1%
el

6. PTis the bisector of ZQPR, m«£QPT = 3x -1,
and m<ZQPR = 100. Find x and m<ZQPT.

oy %L [=60

3X=9

“ X=11
7;0 v= 1T
m£ZQPT = 50

X=12
o)
WL =1y#b
X wW Z } =
W xtb " &
| 7. YW is the median of XZ , XZ = 8x - 40 and
WZ = 20.
! Bxo=40
8x=00
X=10

Dx-10

<=_10

8. PTis an altitude of AQPR and m2PTR = 3x + 15.
Find x. 3X‘H5 =90

=15
JKtle

X=25

. 25

Determine which angle has the greatest measure. Circle the largest one.
Do you know how to compare angles using the Exterior Angle Inequality Theorem?

9. 3, /11s5

10. 4246
11. 3, 42,@

12. 5, 42,@
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Use the pictures to complete the following statements.
Do you know now how to compare inequalities in one triangle by looking at sides and an_q/es that are opposite each other?

13. If m«1=65and ms2 = 40, then the longest side is K @
14, If XZ=XY and m£2 =70, then the longest side is %{ ﬁ”
15. If m«1=90, then the longest side is X { .

16. IfXZ=7,XY=9andZY = 11, then the largest angle is L XG{ZIL

100 x (1 \{
17. If XZ=ZY and m£3 = 40, then the largest angle is A% \ .
Y
18. 7 19. R
12 cm
' 52°
X 8 cm
10 em ] — ;
I o 80 i)
The largest angle is £ The longest side is A—ib_‘_ B
The smallest angle is < X . The shortest side is _&
20. 21. F
& l is the largest angle ; DF is the longest side
X X
exX. =% Xt 4%+ 3460=180
B ({' X 2X+ o4 =180
3 \ 2 x+1 ZX =] 16 :
2 3 X=58

22. Given APQR, if m2£P = 4n+ 61, m2Q = 67 - 3n, and m<R = n + 74, find the value of n. Then list the sides
of the triangle in order from longest to shortest for the given angle measures.

Ul t n k141030 = (60
2n + 202 = 18O

wn=-12
Sides: ’é-‘-i ) \3& and —G?-
ke S

z-11
¢ () K@ '
M

¥ 23. Given AKLM with perimeter of 27, KL Ax-4,LM=x+4and KM = 2x - 1, find x and the largest angle.

L 4x~4+)\~r0( +1x~{=21
Z wl®  hk-1=21
Wi 'N__sz
* 2%\ 4 i

X = ___5______ largest angle = Z— /\/\




Is it possible for a triangle to have sides with the lengths indicated? Show work and write YES or NO
in the blanks. Do you know that the sum of 2 sides of a triangle is always greater than the third side?

2. 13.15-20 13119720 L_/|eS 25. 123 35 _No

2% eeu 122U lj‘,@ 27. 32,4575 117715 _Ejéi__

28. 4913 3P ~No 20. 55375925 A25P4C _N©

Given a triangle with side lengths below, find the range for the measure of the third side. Do you know
how to find the range of lengths that the 3rd side of a triangle will be when you are given 2 sides? Do you know how to
write the inequality expressing the possible values of the 3rd side?

30. 2and3 2+3>X X4+2L2% 31.8and 10 HHIOZX X +8>10
677X X7\ 1B>x wre

Q<zxz5) (22 xZ\p)

32. Curtis City is 60 miles NE of Angel Falls. Davis Springs is 40 miles SE of Angel Falls. Is it possible that
Curtis City and Davis Springs are less than 100 miles apart? Justify your answer

e O oo Vs bl x wok be
ok & 100 > ;m than 100 miles

405 X

Given the triangles below, complete the following statements. Do you know how find the smallest and largest
sides or angles of a friangle when given 2 or more friangles adjacent to each other?

33. [51 A{}( / 34.
The shortest segment in the fi ure is AC The shortest segment in é?lne flgure is & \ LM
The longest segment in the figure lS @ . . A"KLJV\ ng | L/V‘

A M

The longest segment in the figure is

Write an inequality to describe side or angle relationships. 0o you know how to write an inequality comparing
the sides or angles of 2 triangles by using the SSS Inequality or the SAS Inequality Theorems? Do you know how to
write a set of inequalities and solve them when given a problem?

35. 36.
BC L AD A mZACD 2 msBAC
Ll A

27

/ !

B 20 C

Circle one: SSS Inequality ( SAS Inequali Circle one{ SSS Inequality ) SAS Tnequality




37. '
mZABE L m~ZDBC

A4 E D6
Circle one: (SSS Inequality | SAS Inequality Circle one:(SSS Inequall'ry SAS Inequality

39. =
Which is longer, MP orNO ? M V

Clrcle one: SSS Inequality 6;5 InequalD'

Whlch is longer, JLorLK ? J L

Circle one: SSS Inequality (SAS Inequality

41) Which is larger, £1 or £2? /- 2
1|2
5 / \ 5
| N
34 3.7

Circle one: (SSS Inequali SAS Inequality

42 Which is the shortest side of ADEF? EF

] 43, Find all values for x.
A

49°|40

B 12x-7 M 3x+2 €

242 L\ 2x-T
72 24%"]
| & %

D

44, Find all values for x.

3L+ £ 30 %><~4>D m
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